3.4 Solve Rational Equations PRACTICE

Solve each equation. Check for extraneous solutions. ﬁ L
1. 2. Y
)@g}_ 2x(=+49) MR 8 o (3m+15 1 _1)_ et ) It
o 22 =7 2)7 | X m: m =/ e 1
/ = ] b Toa
at+Y +Haz3a 0 RS il _m'.\
a?0 Sady=3a m7 Yo F 1S =0
s DU e T
_i:_)""‘ f——_]g-.h,\}-].l\f\
- i-z ;{M ’1’#-6";
[ s
3. 4 RN
m y 33( 4-|)'I
Qx’5)8=1+2xc3¥,r) ?d?; c(,fﬂ\ __m 2) %—Qz;ji ctj;?ﬂ - jz
- anr _
Afx-bo=15% 7-1 ?(wﬂﬁ—ﬁﬁ‘gﬁq{)
- > —_— N AR U o
,t.fa - , ?‘)'\"S/ I \\7
;\ L.{l r7e }\D + %{ 3‘3*’3
i-: “f' ’}__'3 f_:; ___:) —
5. N pYS 6.
qwiﬁ( —3d\;‘2 _ ) 4£4+fﬂ "f_‘ff_? =Bk ng 4
(4d+% d+2 ) il n—27 3n- }
YA+ _ ( SN ¢ (36
B 91- 1) = '],.O v LA
3‘&1_5(( F2) ) Y= —l1at Y
d-T/..-—g_\ ._'S‘L _}r?fi,}r—“: =)o I LR ¥
S A¥IC=1O W #lo~ =1
..Lh -] = Yy =Y
5;_;‘;_5_ N> ko~ =0
> (‘n‘_l_l,'ﬂl‘h.a']_\ o
m

7. ¥ Y%
AN Ry
N Y Frer 48 r+a) =
JL (er\(”*ﬂ A% ff"’ﬁt)"ﬁ M
) P e B
r‘;—-l) 1 Vet DT EL
-~ 3 - ->

-

—_—




Sw 5 w-— 3+5w2 20w + 15

5@33(«.)/1 \Jw+z qg(u ’sﬁézf’ﬂj g(,,/’f'j(u'f)| M

= > /&'(,'-d"‘ﬁ(y‘ﬁ
§(-’ N S +73 =) w2
- ,’_g:s”(uﬂ + 0 +)
< (u-"N I) L E
o - = 5".___,—5+w’|'_-2
I, -3 T w3
w7, __:JH [
035w
k+3 _ KL aRF(t) | 2]
lr (kz _' = 2K x
k70 AR SR
gt L
—— _
’L*ﬁl& _01
B S §

lO.ﬁf,/'sﬁl\é) 9 Y 3 [\MM"I k('g,;i)? Y Lo
NS Lt 2_6h+9=h2_3h Mw X -
- - L=
(- DG-7) h( %\Pﬂ—?}j

~al) 3
L¥0,” (L -3 2
qL = Bk =
4w -ib
0-3
o = %u\ L)

h = 0 is extraneous, so h = 6 is the only solution




| Multiple Choice

11. Which of the following values of x solves: sza - -:x-3 ?
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D) x =3 B
X= A

(E) None of the above

| FREE RESPONSE

12. Given the graph of the polynomial g(x). g(x)

a. Write a possible equation of g(x).

alA)y = X (x+ (x-S

b. Describe the end behavior of g(x).
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